7.3

Practice - Least Common Denominator

Build up denominators.

3 ? a ?
Di==% 2)5=%
a ? 5 ?
3) 2= 4) =
2 ? 4 ?
5) 3a3b2c  9adb2ct 6) z+5 9adbh2ct

2 7 z+1 ?
7) z+4  22-16 8) z—3 z2—6z+9

r—4 ? x—6 ?
9) z+2  2245x+6 10) z+3 22—2z—15

Find Least Common Denominators

11) 2a3,6a*b?, 4a30° 12) 522y, 2523y°2

13) 2> -3z, 2 —3,x 14) 4z —8,,x — 2,4

15) x 42,2 —4 16) z,o — 7,z +1

17) 22— 25,2 +5 18) 22— 9,22 — 3z +9

19) 2?4+ 3z + 2,22+ 5x + 6 20) 22— Tz + 10,22 — 22 — 15,22+ 2 -6

Find LCD and build up each fraction

21) 5 T 2) i

23) 12 22 2) e
25) xszv 12722+16 26) x2im3;:10’ :vi5
27) mJ—r;ﬁ’ x2—|—2§2t:?-)|—36 28) m23f;ri6’ m2+243;+3

20) = 242

22—2x—-6’x—3
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30) 3z r—2

5

22— 6x+87 224+ x—207 224+ 32— 10



7.3

Answers - Least Common Denominators

12a*b°

6a* 2b
21) 10a3b2’ 10a3b

322+ 6z 2z — 8
22) (z—4)(z+2) (z—4)(x+2)

2 +4x+4 2x2 — 8z
23) (z=3)(z+2) (z—4)(z+3)(z+1)

5 2z — 12 — 3z
24) z(x—6) z(x—6) z(z—06)

2 — 4z 3224+ 12z
(z—4)2(x+4) (x—4)%(z+4)

S5r+1 4x + 8
26) (z=5)(xz+2) (z—5)(z+2)



224+ Tz +6 222 — 9z — 18
27) (z —6)(z+6)2’ (x —6)(z+6)2

3x2+4x+1 2x2 — 8z

28) (z—4)(z+3)(z+1)’ (z—4)(z+3)(z+1)

4z 2244z +4
(z=3)(x+2) (x—3)(x+2)

29)

3x2 + 15z 2 —4x+4 5z — 20
(z—4)(x—2)(x+5)’ (x —4)(x—2)(x+5)’ (x—4)(z —2)(z +5)

30)
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